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4-B. D MBS MEHC K

GIHI) Cu-35%Ni &= 10kgsS 2& T,0lM To2 B AEHNAM MASI S2AoHATH 25 TL0HM E
SaHiE 012 M, Bate sk &, = a2 skt 2E Hotld g2 g A8z 1
clAl L.

Cu-Ni
1600
1500 - an 1455C
2
"
1085°C
10009 T T R 100
Cu Zz A} [wt% Ni) N
Z0l)
& OHAF = Cu-32%Ni CLCo
- . s WT%: Ni
o OHAF D Y|: X—= X =
o AL D10 x =10 X - = 7.5kg
o (x‘gl' —g—_“:_ : Cu—44%Ni
R 35—-32
& g A &2 110 X=—=10xX =2
e 0 _I_}” 0 R4S 0 44-32 Skg

o 222 AR O 28 A (s2)
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Ol Hl) Pb—61.9%Sn &2 10kg= 300CH M 183TC=2 H2AIZALCE 183C HI=2

CUAM &2 &= Jl=otd 281l fHE ottt

Pb-Sn system

T(°C)
L: Cqawt%5Sn
- @
i
L +a i /
200° o | 183°C + 0B
10G- | o+ P |
i " 9?8 ‘l'%Sn
| a 18. SWT?«’.’:SH
ol .
0 20 40 6d 80 :100

18.3 C 97.8
61‘.59 Co.Wt% Sn
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4-B.® DY MBS 2 a9

(5 I~

Ol Hl) Pb—40%Sn &3 10kg= 300CUHA SE2E T2 HLUAIZLH T 2 ®l &%
ot Te HtZ Ot 2X0A &=2 &= Jlsotd 281 RHE ottt

Just above TE :

(o]
T(°C) Co = 18.3wt%Sn

300k C| = 61.9wt%Sn
Pb-Sn S
W = - oo
system ¢ R+ S S0wt%

Wi = (1-Wa) =50wt%

Just below T
ﬂ Co = 18.3wt%Sn

Primev S\ Cp = 97.8wt%Sn

¥ : ! l eutectica |\, S

i [

% 20 40 60 80 100 et W = =73wt%
18.3 Co 619 97.8 R+ S

CU: wt% Sn WB - ZTWT%



K 4-8.® ZHE MEIE 2 .
(9 JN() (9]

v GIM) Pb-40%Sn &2 10kgS 300COHIAl 150C2 W2t AIZCH 150COH Al B2
I 212 25toiet.

A
9
o &
S Jlsotn =40

For a 40 wt. % Sn - 60 wt. % Pb alloy at 150C, find...

- the phases present: o + 3

- the compositions of the phases: Pb-Sn
Co = 11 wt. % Sn TeC) system
CB =99 wt. % Sn

- the relative amounts

of each phase:

300 L (liquid)

200+

59 50| 5t
Wo = === 67wt% 100/; R S

o+ 3
29 o :
W5 = — = 33wt % S B R
38 0 11 20 40 60 80 9400
6 Co Cn. WT% SI’I




